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Logarithmus-Definition 
 

Es seien  1a;Rb,a ≠∈ + :  abx =   ⇔   ( )alog:x b=  
 

x ist der Logarithmus von a zur Basis b. 
 

Beispiel:  322x =   ⇔   5)32(log:x 2 == ,  denn: 3225 =  
 

Taschenrechner: ( ) ( )
( )

( )
( )

( )
( )bln
aln

blg
alg

blog
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alogx b ====  

 
Gleichungen — Beispiel 1 
 

3xx2 339 +=⋅    ⇔  3xx22 333 +=⋅  ⇔   3xx22 33 ++ =  
 

Exponenten-Vergleich ⇒  3xx22 +=+  ⇔   1x =  
 

⇒  { }1L =  

 
Gleichungen — Beispiel 2 
 

)5(logx 3=   ⇔  53x =    ⇔  ( ) )5log(3log x =  
 

   ⇔  ( ) )5log(3logx =⋅  ⇔  ( ) 46,1
3log

)5log(
x ≈=  

 

Oder direkt:  ( ) 46,1
3log

)5log(
)5(logx 3 ≈==  

 

⇒  { }46,1L =  

 
Gleichungen — Beispiel 3 
 

2xx 532 −=⋅  ⇔  ( ) ( )2xx 5lg32lg −=⋅   ⇔  ( ) ( ) ( )2xx 5lg3lg2lg −=+   
 

⇔  ( ) ( ) ( ) ( )5lg2x3lgx2lg ⋅−=⋅+   ⇔  ( ) ( ) ( ) ( )5lg25lgx3lgx2lg ⋅−⋅=⋅+  
 

⇔  ( ) ( ) ( ) ( )5lg22lg5lgx3lgx ⋅−−=⋅−⋅  ⇔  ( ) ( )( ) ( ) ( )5lg22lg5lg3lgx ⋅−−=−⋅  
 

⇔  
( ) ( )
( ) ( ) 6582,7

5lg3lg
5lg22lg

x ≈
−

⋅−−=   ⇒  { }6582,7L =  

 
Gleichungen — Beispiel 4 
 

32623 xx2 −=⋅−⋅   Setze 0u2x >=   3u6u3 2 −=−   
 

⇔  01u2u2 =+−  ⇔  ( ) 01u 2 =−  ⇔  1u +=  
 

1u2x ==  ⇒  0x =  ⇒  { }0L =  

 


